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TE % bj=bb+ba1+ba2=400+75+75=550mm

bai=ba2=min(bi/2, D/4)=min(150/2, 700/4)=75mm
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7.9.1.2. RCHERHEEMORE R (ZH)
i 2F/ X1/Y1 Fe 24
e | K | dA. k | blb2 |balba2 bjbb ‘ D,QAj | =2 H,L JLR | MyLR | &,ZMy/j | QDETF | QDjl2 | QDj&EL | #IE
1.00 150 75 550 700 2000 0 0 0.27 0 329 109
X L -E0 OK
3.00 150 75 400 687 5000 473 214 453 -41 109 0.16
1.00 150 75 550 700 2000 0 0 0.27 0 329 109
Y L -E90 OK
3.00 150 75 400 687 5000 473 214 453 -41 109 0.16

b, LEESTOEHHAREARANIC, LOEDERENERINET,
QAj= ¢ A* K A*(fs-0.5)*bj*D=1.00*3*(1.095-0.5) *550*700=68TkN

SR FHEESE [8.3.1 RPAT AMNICHT 215
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7.9.1.2. RCHEREAMORER(GEH)

(g 2F/ X1/Y1 Fc 24

% | W4k | A, « | blb2 | balba2 | bbb ‘ D,0A) "‘r—x HL | JLR | MyLR | &,5My/j | QDEF | opit2 | opigek | wE
0.80 150 75 550 700 2000 0 0 0.27 0 329 109

X L -E0 oK
3.00 150 75 400 550 5000 473 214 453 11 109 0.20
0.80 150 75 550 700 2000 0 0 0.27 0 329 109

Y L -E90 oK
3.00 150 75 400 550 5000 473 214 453 -1 109 0.20

M. LEESTOEHHAREARANIC, 0.80FDERENERINE T,
QAj= ¢ A* k A*(fs-0.5)*bj*D=0.80*3*(1.095-0.5) *550*700=550kN
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